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Forty-five divided by three equals fifteen


Sixteen plus fifteen equals thirty-one


Forty-six minus twenty equals twenty-six


Thirteen times three equals thirty-nine











My name is __________








Hi, I am _________





And I am _____________








3) Circle the correct answer:


a) Thirty- three divided by three equals ___________________________________


     (   ) ten     (   ) twelve   (   ) fourteen    (   ) eleven


b) fifty-six plus twenty-one equals _______________________________________


    (   ) seventy-seven    (   ) seventy-six   (   ) seventy    (   ) ninety


c) sixty-three minus fifteen equals _______________________________________


     (   ) twenty- two    (   ) forty-eight   (   ) forty   (   ) forty-five





2) Write with words the following equations:


a) 16 + 16 = 32 ________________________


___________________________________b) 45 : 9 = 5 __________________________


___________________________________c) 96 – 51 = 45 ________________________


___________________________________d) 83 – 14 = 69 ________________________


___________________________________e) 26 : 2 = 13 _________________________


___________________________________f) 71 + 12 = 83 ________________________


___________________________________g) 45 X 2 = 90 ________________________


___________________________________h) 12 + 1 = 13 _________________________


___________________________________


i) 36 – 18 = 18 ________________________


___________________________________


j) 45 + 2 = 47 _________________________


___________________________________








     equa


 








1) Write the results in English:


a) 33+ 2= thirty-fife


b) 100: 2 = _______________________


c) 43 + 25 = ______________________


d) 88 : 4 = _______________________


e) 53 – 19 = ______________________


f) 45 + 45 = ______________________


g) 95: 5 = ________________________


h) 74 – 16 = ______________________


i) 30 + 46 = ______________________


j) 15 X 4 = _______________________


k) 38 X 2 = _______________________


l) 26 + 64 = ______________________


m) 35 – 14 = ______________________


n) 12 X 4 = _______________________


o) 25 + 45 = ______________________


p) 89 – 32 = ______________________


q) 16 + 11 = _______________________


r) 136 : 8 = _______________________


s) 88 : 2 = _______________________





Hello, I'm __________











